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１ 次の計算をしなさい。

（２） ５χ＋２ｙ＝１（１） ３χ＋２ｙ＝１８

３χ－４（χ＋ｙ）＝７χ－２ｙ＝１４

χχχχ＝＝＝＝８８８８ ｙ＝－ｙ＝－ｙ＝－ｙ＝－３３３３ χχχχ＝＝＝＝１１１１ ｙ＝－ｙ＝－ｙ＝－ｙ＝－２２２２

（３） （４）

χχχχ＝－＝－＝－＝－９９９９ ｙ＝－ｙ＝－ｙ＝－ｙ＝－１１１１ χχχχ＝＝＝＝５５５５ ｙ＝ｙ＝ｙ＝ｙ＝１０１０１０１０

（５） ２χ－５ｙ＝２０ （６） ２χ－３ｙ＝１

〔 〕－３（χ－ｙ）＋ｙ＝－２ ３χ＋２ｙ＝８ Ｈ21全国学力調査

χχχχ＝－＝－＝－＝－１０１０１０１０ ｙ＝－ｙ＝－ｙ＝－ｙ＝－８８８８ χχχχ＝＝＝＝２２２２ ｙ＝ｙ＝ｙ＝ｙ＝１１１１

（７） ０．４χ－０．１ｙ＝１．３ （８） ３χ－ｙ＝５

〔 〕４χ－１＝ － χ＋２ｙ＝４
ｙ

Ｈ14宮城県入試問題
３

χχχχ＝＝＝＝１１１１ ｙ＝－ｙ＝－ｙ＝－ｙ＝－９９９９ χχχχ＝＝＝＝２２２２ ｙ＝ｙ＝ｙ＝ｙ＝１１１１

２ 連立方程式 ａχ－ｂｙ＝－１３

ｂχ＋ａｙ＝１

の解が，方程式χ＝－１，ｙ＝２であるとき，ａ，ｂの値を求めなさい。
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